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1. What shapes can be created by a horizontal, vertical, or
angled cut with a triangular prism
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2. A cylindrical can of baked potato chips has a height of 15 centimeters and
a radius of 5 centimeters. A new can is advertised as being 15% larger than
the regular can. If both cans have the same radius, what is the height of the

larger can?
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3. Solve for x so that the volume of the U-shaped rectangular
structure is equal to 144 cm3. Show work for full credit
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4. Parents are throwing their boy a fabulous Spiderman-themed birthday party.
They are creating a balloon archway with the red and blue Spiderman colors.
The archway will contain 250 balloons, each holding 1.4 liters of helium. Each balloon

——

has a mass of .024 grams when empty, and all the string and fixings that hold the

balloons together total another 35 grams. If helium has a density of 0.1674 grams

per liter, what is the mass of the entire archway?
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5. You are making a special birdhouse for the squirrels in your
backyard, yes for the squirrels. If the total height of the birdhouse
is 40 cm and the radius is 10 cm, what is the volume of the

birdhouse in terms of 17?
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6. Students are making special pencil holders for their desks. They have
two choices when picking their designs. They can choose from a square
prism with side lengths of 8 in with a the center cut out, or a cylinder with

the center cut out.

What is the volume of this figure?
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What is the volume of this figure?

If students wanted to have the most room for their pencils, which pencil holder should they choose. Explain your reasoning.
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/. The volume of a rectangular prism is

4x2 - 10x - 24. The length of the prism is
defined as (x - 4) and the width is 2 un. What
is the height of the prism?

g \ )h 2 oeN2Z (R ix =i
*q *“ﬁ@’f\@%ﬂ@

V=thxor2g (. LR 3 (lﬁ\g




	Page 1
	Page 2
	Page 3
	Page 4

